
		Abschluss	des	Kontos	SBK	mit	EK	Berechnung		

Fallbeispiel  1:                                                 ©www.mein-lernen.at 

Bilde mit folgenden Angaben das Konto SBK und berechne das Eigenkapital:    

Kassabestand € 14.000,-       USt-Zahllast € 11.000,-     Bankguthaben € 52.000,- 

Geschäftsausstattung € 16.000,- Handelswaren € 96.000,-    Darlehen € 38.000,-  

 

Berechnung Kapital:__________________________________________________ 

Fallbeispiel  2: 

Kassabestand € 10.000,-  Lieferverbindlichkeiten € 72.000,-    

Bankschulden € 34.000,-  Fuhrpark LKW  € 58.000,- 

Handelswaren € 180.000,-  Lieferforderungen € 42.000,-  

 

Berechnung Kapital:__________________________________________________ 

Lösungen: Aufgaben/Rechnungswesen/Verbuchung mit Kontodarstellungen/SBK 1+2 


